29.

—
FO| 2UE UFot= A Q9 Azl OPE #HAHE=Z st d OF A4e UL HH
C

Dol mM RQo|m o] mM RQ 3t W AMD= 42o0|82 RQ//BCO|C},

222 OPQOIM OP= 23stn Q= 0P+ 0Q* ol22 |pQlel zoizte oot
Qo 212 & A& CDR0| UL WoICE (H RO |0 US ARE ORIHA| )

oP = %(ﬁ—i—O—D))

0Q = OD+tDC
= oD+t(0C— OD)
= t0OC+(1—t)0D ooz

oP+ 0Q =—(04+ 0D)+ (tOC+(1—1t)0OD)

{to4 . 0C+(1-t)0A+ OD+toD « OC+(1—1t)|0oD|*}

[\3|+—l l\'>|>—~

O7|M 04+ OD=0 0C+ OD=0 0|82 0P « 0Q = %{ta- oc+(1-1)|opl*}
0171 OA » OC = —% l'op|* = ? = t—%

P
et

L 2
o P =[] +(var -




30.
224 (WM fla)=f(B)=M

\\yzgr(x) a = B9 a, BOf| THLO] ¢ (o) = ¢'(B) A@lst

metd y =g’ (x)0] TH&e \
NPANE

a
it
>
N
o
~
©
i
i
rg
I
_O'ﬂ
rl
<
|
Na
&

2
ZU (CHOIM f(z)7t g(z) 2Ot ICY £ FATt o
y=M
] ! \ , . )
z22 2AlE zs9 A y=g'(z) Y /0fOF BiCh.

S MO| 2AY ARE O3EH |B—al=64/30/22

y=M

—3V3 0 33 y=g'(x)

g (z)— M, =—4(z*—272)0|2 ¢'(z)=0 O|M 2=—3 or 3
—4(3*—3%) =—4+3°(1-3) =216



